FRBEBEFT PSR R EA A RBLE P 5L

) TLE BRI (FH P 0-10 |11-20| 21-30 | 31-40 | 41-50 | 51-60 | 61-70 | 71-80 | 81-90 |91-100| & ++( 4 )
fra | [Foausim] g s d) R 12 0 0 0 3 7 7 13 0 0 42
o | (o dn] §asmad) e 12 0 0 2 7 8 10 3 0 0 42
o | [Faausim] s d) &% 15 1 7 5 9 3 0 2 0 0 42
EEICIE ST IDEY EE R | 12 0 0 5 9 8 7 1 0 0 42
fra | [Fsausgm] 2 £t 20 0 0 1 2 5 21 24 6 0 79
o | [fFasudd ] § LE- 21 0 0 0 3 23 25 6 1 0 79
Ry i 3 = : 22 3 5 13 16 13 6 0 1 0 79
i FE 20 1 1 2 8 22 23 1 1 0 79
S 28) [#Fr] 6 0 2 0 0 6 4 10 0 0 28
i 27) [#rr] 7 2 3 3 5 4 3 1 0 0 28
I CEY 28) [#31] 6 1 5 5 5 4 2 0 0 0 28
o | [ s sm] e 27) [#rr] 6 1 2 3 8 4 3 1 0 0 28
I G E (82 §) 23 0 0 1 3 2 15 12 0 0 56
B CETIE 23 1 2 1 9 5 11 4 0 0 56
frae | (o] & 24 0 1 2 10 13 5 1 0 0 56
B CESIEE 23 0 0 2 6 10 12 3 0 0 56
EICEY ) 18 0 0 2 5 15 9 3 0 0 52
fra | (gl gag(Ferad) 20 3 1 2 5 5 12 4 0 0 52
i | [fFag ]l dep(Ferad) 21 1 2 6 3 8 7 4 0 0 52
e | [Feg]a B 18 0 5 2 5 9 8 5 0 0 52
I CEYDYE 28) 7 0 0 0 1 4 12 3 0 0 27
BRI 27) 8 9 1 2 3 0 3 1 0 0 27
I CETIYVEE 279) 8 0 0 4 1 5 4 4 1 0 27
fra | [fFar d) gag(Fesrad) 7 1 0 5 5 3 3 2 1 0 27
fro | [FFema ] AnpGiBAs27) 13 0 0 1 1 7 4 4 0 0 30
s | [Famair] AnBGABA 2 7) 12 0 5 5 6 1 1 0 0 0 30
fro | [FFemir] AngGAins 28) 15 2 4 4 1 2 2 0 0 0 30
o | [Famair] AhpGABRA 2 7) 12 0 3 8 2 4 1 0 0 0 30
SN CES LS S EE Y ICE L RN:D) 19 0 0 2 6 13 8 5 0 0 53
I CES S DR ETICET YD) 19 1 4 12 11 3 3 0 0 0 53
i | [FamziF] gep(Fesrad) 20 6 5 5 4 3 4 3 2 1 53
fro | [Fams ] 3ap(Fesad) 19 0 3 11 6 8 6 0 0 0 53
fro | [Faga)] AngGins2da) 5 0 0 1 1 5 8 1 0 0 21
o | [FmgFn) A (RBs27) 5 0 0 0 1 0 3 3 8 1 21
Fro | [FFaga)] AngGins28) 5 0 0 0 1 3 2 7 3 0 21
o | [FFsgn) A (RBAs27) 5 0 0 0 0 3 3 8 2 0 21
i k(RN P) 18 0 2 6 8 15 10 7 0 0 66
i s g ) 19 0 7 9 13 15 2 1 0 0 66
£ 3 z 20 0 6 14 11 9 2 2 2 0 66
IS EE 18 0 4 10 16 14 3 1 0 0 66
o | [fraekin] & 30 0 1 2 6 13 15 7 0 0 74
o | [Fekr] 3 32 3 13 13 9 4 0 0 0 0 74
P | [fFompim] g an(RFesr o) 39 11 8 5 8 1 2 0 0 0 74
fra | [framin] §ap(Fesr ) 30 2 13 11 12 6 0 0 0 0 74
Bro | [frsd ] ABEGIBAXF) 12 0 0 0 3 4 5 0 0 0 24
i | et A) ABBGABEAZR) 16 1 1 1 0 1 3 1 0 0 24
froe | [fFFmd 2] ABBECGBEAY 2 7) 12 0 0 0 1 4 2 3 2 0 24
SN CESED BN Y6 L) 12 0 0 3 3 1 3 2 0 0 24
o | [fFramt A) Gapb(Faeih o) 12 0 1 0 1 1 11 2 0 0 28
| [pad A)dep(Fesrad) 15 0 0 4 2 0 3 2 2 0 28
fra | [frast &) F 20 B 12 0 0 4 2 0 2 5 2 1 28
B CEYESE 12 0 1 2 1 4 4 3 1 0 28
B CEEEE 6 0 0 0 1 8 7 2 0 0 24
EEI T 6 0 0 0 5 7 4 2 0 0 24
fra | [fFaE 8] A 6 0 1 1 1 9 6 0 0 0 24
P | [FFotil]l daep(Gesrad) 6 0 0 0 1 11 5 1 0 0 24
fram | [fFagid)] ABnBGABRAL D) 8 0 0 2 1 0 4 2 0 0 17
o | [FFaiis] AnE(EEs27) 10 0 0 2 1 1 3 0 0 0 17
Fro | [Freqis] AnEGERS2P) 10 1 2 1 1 0 1 1 0 0 17
fro | [Fogi] AnE(AR,27) 9 0 2 2 1 0 1 2 0 0 17
o | [sgi)] 40 BGABRA2A) 1 0 0 0 1 0 1 0 0 0 3
o | [Fmsgs) 42 BGAEA2F) 2 0 0 1 0 0 0 0 0 0 3
pram | [Fsg] £ BB 2S) 1 2 0 0 0 0 0 0 0 0 3
o | [Frsgis) 42 BGAKRA2P) 1 1 0 1 0 0 0 0 0 0 3
e | [Faal i gAY A2P) 8 0 0 0 0 3 4 1 0 0 16
s | [Fag@)ldf g (dd A7) 12 0 1 1 1 1 0 0 0 0 16
fra | [Fsg#)] 40 B(4P A 27) 10 1 2 0 1 0 1 0 1 0 16
o | [Fsgsl 49 B(49227) 8 0 3 3 0 0 2 0 0 0 16
7 s |GESTIREEYICRED) 4 0 0 0 1 2 1 2 0 0 10
fro | [Feagip] gep(had) 6 2 0 0 1 0 0 1 0 0 10
G EE 28) 7 1 0 1 1 0 0 0 0 0 10
o | [fFani] @ 27) dga A 4 2 2 0 0 1 1 0 0 0 10
fra | [Frap®] gk (Fesrad) £ 11 0 0 1 1 0 2 0 0 0 15
fra | [fran] $ap(Fesrad) 3 11 1 1 1 0 1 0 0 0 0 15
fra | [Frag®] gk (Fesrad) 12 1 0 1 0 1 0 0 0 0 15
e | [fran] $ap(Fesrad) 11 1 0 1 1 1 0 0 0 0 15
fram | (g Ang(Ars2d) [Br] 1 0 0 0 1 0 3 0 0 0 5
frae | [Fagi] AngEnLs 27) [#Hrr) 1 1 1 0 0 2 0 0 0 0 5
frao | [Fadi] AngGins28) (%] 1 1 2 0 1 0 0 0 0 0 5
fraoe | [Feg] AngEnLs 27) [#Hrr) 1 0 1 1 2 0 0 0 0 0 5
frae | [aisiR] gk (Fesr ) 9 0 0 4 4 7 7 1 0 0 32
i | (el dep(Fesrad) 9 4 3 10 5 1 0 0 0 0 32
frae | [FraisiR] gk (Fesr o) 15 2 5 3 5 2 0 0 0 0 32
| (el dep(Fesrad) 9 3 2 7 11 0 0 0 0 0 32
Ao |[Bosugdm] AnBABRA D) 13 2 0 2 3 4 3 2 1 0 30
Ao | [Famgdm] AnB(ABRALSR) 13 1 1 1 4 3 4 3 0 0 30




FRBEBEFT AP RFTEREL BB L RS 5ppd

TLE BRI (FH L 0-10 |11-20| 21-30 | 31-40 | 41-50 | 51-60 | 61-70 | 71-80 | 81-90 [91-100| & 3-( *)

[Faosmsdm] ARG B, 2P) 13 2 4 2 2 2 3 1 1 0 30
[Foigdm)] ABRBGIRA2P) 13 1 1 3 4 3 2 3 0 0 30
[Fosvufgm] £48GhRA 27) 11 0 2 0 1 6 2 1 0 0 23
[Rosddm) 4 a8 AKBA2P) 11 1 0 1 3 3 3 1 0 0 23
[Fomufgm] £ 8GhRA 27) 13 1 2 1 1 1 3 1 0 0 23
[foigdm] M 8GARA2P) 11 1 1 2 3 1 4 0 0 0 23

. Bag(E P 32 0 4 3 14 22 29 9 1 0 114
R % 2 35 1 3 4 15 31 15 8 2 0 114
B s 3 39 4 11 18 12 7 9 8 6 0 114
Ao | [Faimggm] 3z 33 3 3 11 22 16 13 11 2 0 114
Ao |[[Fovagyn] ) 6 0 2 1 2 0 3 0 0 0 14
Ao | [Rasdgm] ag(Fesr2d) 6 0 0 1 3 2 0 2 0 0 14
Ao |[Romgim] gep(Fesrsd) 6 0 2 0 2 3 1 0 0 0 14
B | [Raesdgm] gag(Fesrad) 6 0 0 3 3 0 2 0 0 0 14
o | [Raosudgn] & 8(gas2d) 6 0 1 0 0 2 3 0 0 0 12
Bo |[Roaw@sm] v 8p(Fasrad) 6 0 0 0 0 5 0 1 0 0 12
B ) FHBEF RS DT 6 1 2 2 0 1 0 0 0 0 12
B | [Faigdm] # gp(3esad) 6 0 0 1 4 0 1 0 0 0 12
B i & 27) 12 0 2 0 6 8 6 0 0 0 34
R 27) 12 1 2 3 4 8 4 0 0 0 34
Ao | [Rasudgn] Bpg(gas ) 13 2 3 5 5 3 3 0 0 0 34
Fio |[Ramddm] gmg(Fenrsd) 12 1 1 5 7 5 3 0 0 0 34
B | [Rosndgm] s (Rns 22) [#kr]) 6 0 2 0 1 3 3 1 0 0 16
Ao |[fovadgm] AnpAns @) [Hrr] 6 0 0 0 1 2 4 3 0 0 16
o | [Resudgn] fnpGhns 27) [hrr) 6 0 2 1 1 0 3 3 0 0 16
B | [Rasudsm) ard(hnsod) [Hrr] 6 0 0 0 4 1 2 3 0 0 16
Ao | [Foouddm] gs(3es2d) [Hm] 8 0 0 0 4 4 10 1 0 0 27
B | [Ravugsn] g28(Ges2d) ] 8 0 0 0 3 8 5 3 0 0 27
o |[Bawgsm] gep(Ges2d) [Br] 8 0 2 2 4 5 4 2 0 0 27
o | [Famggm] geg(Gaes ) 1) 8 0 0 1 3 7 6 2 0 0 27
IESICESTEE IR YT ICY LD 5 0 1 0 0 2 4 0 0 0 12
B | [R&d #m] AngGBEL27) 5 0 0 1 1 1 3 1 0 0 12
[ESICESTEE AN YT IC Y RN 5 0 1 2 2 1 1 0 0 0 12
o | [Bsid )] ABpGEBASF) 5 0 0 1 1 2 3 0 0 0 12
B | [Bsdsim] £ BGhBASE) 3 0 0 0 0 3 1 1 0 0 8
B | [Baiasw] $480RA D) 3 0 0 0 0 3 1 1 0 0 8
ESICESE R ETRIC Y L END) 3 0 2 1 1 0 1 0 0 0 8
o | [Baragm] 4 p(ABA2R) 3 0 0 0 3 1 0 1 0 0 8
Ao | [Rsd gie] (L) 5 0 0 0 2 1 2 3 0 0 13
Ao | DR &2l $hiie] 5 0 0 0 1 2 2 3 0 0 13
B | [Ba2idfmw] s 5 0 1 0 3 2 1 1 0 0 13
B |[Bavdpic] gp(asd) 5 0 0 0 1 3 3 1 0 0 13
R | [Refinmi] AnsGirs2o) 29 0 1 1 10 8 12 3 0 0 64
o | [Baginps)] aBEGAKBASR) 37 5 6 3 1 3 3 3 3 0 64
Ao | [Batsmsa)] ABBGABRAF) 34 4 6 4 5 6 2 1 2 0 64
o | [Baginrr)] ABAGAKBAZR) 31 2 6 8 5 3 7 2 0 0 64
ESCES ST OETS 16 Y LKD) 14 0 0 0 4 4 5 0 0 0 27
o | [Ragnmr] 4GB A) 15 3 4 1 1 0 1 0 2 0 27
o |[Batmmr] 4A8GABAN) 16 1 1 1 3 1 2 1 0 1 27
Ao | [Betnri] 424 80GHBA D) 13 3 2 1 4 2 0 1 1 0 27
Ao | [BssiniG] KEEGKBA2F) 12 1 0 1 4 6 2 1 0 0 27
o | [Hstmmr) 14 4 2 2 2 2 0 1 0 0 27
Ao | [Batsmsa] & 13 3 2 3 2 1 0 2 1 0 27
o | [Baginpsel & 12 2 2 5 2 2 1 1 0 0 27
R | [Rs$iiEsc] 20 0 2 3 5 11 9 11 0 0 61
R | [Ba$iris) 25 12 2 3 4 0 4 6 5 0 61
Ao |[Re%¥irisn] 3 23 2 8 7 7 8 3 2 1 0 61
B | [Bagir) 20 3 8 7 7 4 5 7 0 0 61
Ao | [R&¥iiEs] 133 7 4 8 34 62 72 18 2 0 340
Fo | [fatnpi] gag(@erad) 159 32 | 17 25 13 28 26 20 19 1 340
R |[Rotirimsc) dp(Fasrd) 152 11 | 37 30 29 32 34 11 2 2 340
Fa | [RagiriE] #H(Fs2P) 133 16 | 30 36 32 30 44 15 4 0 340
B | [(Retniti] BpgFaesr2d) 8 0 0 2 4 4 7 5 0 0 30
B | [Estinms] 9 2 3 2 1 4 5 3 0 1 30
HESICES T ST 8 1 3 8 2 6 2 0 0 0 30
B | [Bagiris) 8 1 2 2 5 6 5 1 0 0 30
Ro [[Fopf@sin] s 28) [#rr] 9 0 0 0 3 0 7 2 0 0 21
B | [Bapitin] 3 >7) [#wrr) 11 0 3 1 2 2 1 0 1 0 21
N 28) [#31] 11 0 0 5 1 2 2 0 0 0 21
Ao [ [Rapiydn)] gas@aesr2d) ) 9 2 0 3 2 3 1 1 0 0 21
S GESSDE YT ICY RN 24 0 0 1 2 2 13 6 1 0 49
B | [Basrcn )] g (rns2e) 28 1 1 4 7 2 3 3 0 0 49
o | [Rwoch ] fBBGERA D) 27 8 10 2 2 0 0 0 0 0 49
B [ [fwsch ] ABEGIBADP) 24 4 0 7 10 1 2 1 0 0 49
R | [Rwsch ] HEgGEES2P) 24 0 0 0 2 3 11 9 0 0 49
R | [fwscp ] mEpGEES2P) 25 5 1 1 3 5 5 4 0 0 49
Bow | [Boash ] FERGEESL2P) 25 7 10 5 1 1 0 0 0 0 49
R | [f s ] mEpGEES2P) 24 1 4 4 7 6 3 0 0 0 49
Ao | (B¢ ] ABBEABRA) 15 0 1 0 3 1 6 0 0 0 26
Ao | [Bax¢ ] Bp(Brs2d) 19 3 2 1 0 1 0 0 0 0 26
o | [Bagz] AnB@nsag) 19 3 0 1 2 1 0 0 0 0 26
Ao [ [Rag ] ABBns29) 16 3 3 0 4 0 0 0 0 0 26
ESICES O E AN IC LR ND) 16 0 1 1 2 4 10 3 0 0 37
B [ [Exgl147 g(4da2d) 22 5 6 2 1 1 0 0 0 0 37
[ESCES D E LR IC LR 19 1 7 5 0 4 0 1 0 0 37
B |[[Bsgz 14 pddrng) 16 3 4 8 4 2 0 0 0 0 37




FRBEBEFT AP RFTEREL BB L RS 5ppd

TLE BRI (FH L 0-10 |11-20| 21-30 | 31-40 | 41-50 | 51-60 | 61-70 | 71-80 | 81-90 [91-100| & 3-( *)

[FafFal AngGrs @) £ 26 0 1 2 12 16 15 2 0 0 74
[FagFa) fAng(ABras ) 28 5 14 3 8 5 5 5 1 0 74
[AafFa)] ABnBGLBA ) 27 2 0 3 8 10 13 9 1 1 74
[RafFn)] At Gins 2d) 26 0 4 6 15 10 11 2 0 0 74
[GESEI EETIC D) 4 0 0 0 1 1 3 0 0 0 9
[FxgFa) s 2F) 4 1 0 1 1 0 0 1 1 0 9
[AegFa] s ( ) 4 0 0 0 1 1 1 0 1 1 9
[RogFn)] ge8(aa?) 4 0 0 1 0 2 1 0 1 0 9
[ B(F s D7) 21 3 3 1 6 6 4 0 1 0 45
[AxgFa)l gzp(esr2d) 24 4 4 2 6 1 2 2 0 0 45
[ K (Bzen28) 21 1 3 2 3 5 6 2 2 0 45
[FagFa) dep(derad) 21 2 4 3 6 4 5 0 0 0 45
[TESOFE 28) [#31]) 4 0 1 0 2 0 0 0 0 0 7
[FxgFnl) 3 27) [#rr] 4 0 3 0 0 0 0 0 0 0 7

. SO 2 8) [#31] 4 0 0 0 0 0 0 2 1 0 7
E [FagFal dep(@enr>d) [Hrr]) 4 0 0 0 2 1 0 0 0 0 7
B | [BasmiE] fnpns2qa) 8 2 2 0 2 4 5 0 0 0 23
B | [Bammim)] fg(Rns ) 10 5 2 6 0 0 0 0 0 0 23
B | [Basmim] fnp(ns2qa) 8 5 1 5 3 1 0 0 0 0 23
B | [Bamm)] Aup(lnssd) 8 3 3 4 4 1 0 0 0 0 23
ESICES SO ETY ¢ VRN 7 0 0 0 0 2 3 1 0 0 13
Ao |[[RemiE] dr @GR 2P) 7 1 3 1 1 0 0 0 0 0 13
Ao | [Begkm] drBABALS) 7 2 0 1 1 2 0 0 0 0 13
R [ [Rakip] 4a8GHBAS2P) 7 0 1 2 2 1 0 0 0 0 13
ESICES IR EY ICELEND) 24 3 4 2 3 10 4 2 0 0 52
R | [Rami)] 3 (gza2?) 28 10 7 4 1 1 1 0 0 0 52
HESICES YO K (Bzsrad) 29 6 8 5 2 2 0 0 0 0 52
R | [Bamin)] dzep(Baesrsd) 27 2 11 7 3 1 1 0 0 0 52
B | [Bamip] Fap(EiEs2q) 17 0 0 0 1 3 6 0 0 0 27
Ao | [Rekix] PERGEES2P) 18 3 3 1 2 0 0 0 0 0 27
Ao | [Bamkiz] SEpGEiEsod) 17 3 2 1 1 1 2 0 0 0 27
Ao |[Ram)] wEp(GEiEs o) 17 1 2 3 2 2 0 0 0 0 27
R | [Raoudsw] s Ghns 2 7) [hrr] 4 0 0 0 0 3 4 0 0 0 11
Ao | [Reoa@sw] fAnpQhns o) (k] 4 0 1 1 0 1 2 0 2 0 11
R | [Rasudsiw] s Ghns 27) [hrr) 5 2 1 1 0 0 2 0 0 0 11
B | [Basudm)] Ahd(Rrs o) [#rr] 4 0 1 1 2 1 1 1 0 0 11
B | [Bssndi)] £ 1B GhEA ) (W3] 1 0 0 0 0 0 0 1 0 0 2
B | [Bssudgic])] 28 GEA 27) [#rr) 1 0 0 0 0 0 0 1 0 0 2
B | [Bssnggm)] £ 1B GhBA ) (3] 1 0 1 0 0 0 0 0 0 0 2
R | [Fsigpm] 4 a8GBA 27) [1r) 1 0 0 0 0 1 0 0 0 0 2
R | (R sindgpe] grigit Ghias 27) [#wrr] 2 0 0 0 1 0 0 1 0 0 4
Ao | [Basudfir] fdb(hns 27) [#Hrr) 2 0 0 0 0 0 0 0 2 0 4
B | [Rsiudsp] grgp Ghrs 2 7) [#Hrr] 2 0 0 0 2 0 0 0 0 0 4
B | [Basudsm)] s (hns o) [mrr] 2 0 0 0 0 1 1 0 0 0 4
ESCES PO ELE IC L LDN €. F:9 | 2 0 1 1 1 1 2 1 1 0 10
Bo | [Bosuadgic]] 49 B (L7 227) [#rr) 2 0 0 1 2 0 0 2 1 2 10
S CES FYDELE IC LR LN €. F9 | 4 0 0 1 2 1 0 1 1 0 10
R | [Rasugsie] 47 g9 2 27) k] 2 0 2 0 1 1 1 2 1 0 10
Ao | [Rassuggmm] g (Gesrod) [wmrr] 4 0 0 1 3 2 1 0 0 0 11
Ao |[Bobulppr] g22p(Benr @) (] 4 0 0 0 0 1 2 1 3 0 11
A | (R sind grie] 3 & 28) [#31] 4 0 2 0 2 1 2 0 0 0 11
Bao |[Babutippc] gp(Bes2d) [#rr] 4 0 0 0 2 1 3 1 0 0 11
B | [Bssndpiw] £ T (Faes o) (W] 1 0 0 1 1 3 1 0 0 0 7
R | [Rasudsr] & 8 (Fas ) (k] 2 0 0 1 1 0 0 1 2 0 7
B | [Basudsi)] £ Zp(Fehod) (] 3 1 0 1 0 2 0 0 0 0 7
Bow | [Basud)] £ (s o) (] 2 0 1 1 0 1 1 1 0 0 7
S CES PRV ICE LIRLDN €. F:9 | 3 0 0 0 3 0 2 1 0 0 9
Row | [Basudfi)] # 88320 20) (M) 3 0 0 0 1 1 0 1 3 0 9
S GES FYDRE-VICE LN €. F:9 | 3 1 0 2 1 1 1 0 0 0 9
Ao | [Basudfic] # 88520 27) [#Hrr) A 3 0 0 1 1 1 1 2 0 0 9
Ao | [Basusgw] Bpg(Bes 27) [#Hr] 2 1 0 0 1 0 1 0 0 0 0 3
B | [Basugsw] man(Fasod) [#r] e 2 0 0 0 0 0 0 1 0 0 3
B | [Bssndpi] gpp(Fes2d) [wr] L% 1 1 0 0 1 0 0 0 0 0 3
B | [Basugsiw)] mapb(Faesod) [#rr] dga A 1 1 0 0 0 1 0 0 0 0 3
B | [Bssndiw] S GEiEs 28) (] 4 0 0 1 1 1 0 0 0 0 7
B | [Basud i) 2dp(GoiEs 2 2) (] 4 0 1 0 0 0 2 0 0 0 7
B | [Bssndm)] S GEEs 28) (3] 5 1 1 0 0 0 0 0 0 0 7
B | [Basud )] 2dp(GEiEs 22) [mrr] 4 0 1 1 1 0 0 0 0 0 7
R | (Rt ) ABBGhEA ) 1 0 1 0 0 0 1 0 0 0 3
Ao |[[Rad A ABnBGARS D) 2 0 0 1 0 0 0 0 0 0 3
[ESIGEEESE VY IC VYD) 2 0 0 0 0 0 1 0 0 0 3
R [ [Rad 2] ABBEGERBRSP) 2 0 0 0 0 1 0 0 0 0 3
[ESICEEESETS 16V LX) 4 0 0 0 1 0 2 0 0 0 7
o |[Bs2 A drBGEA2P) 5 1 0 0 1 0 0 0 0 0 7
[ESICEEESEYS 1¢ YV LX) 5 0 0 0 1 0 0 1 0 0 7
o |[Bs2 A d2rBGEA2P) dpud s 4 1 0 1 0 1 0 0 0 0 7
Ao |[Roadtr]ldep(Eedrad) £t 5 0 0 1 1 1 1 1 0 0 10
Ao | [Ess A4 g(dernn) 3 6 1 1 0 2 0 0 0 0 0 10
[ESIGEEES ESE IC XN 1)) 5 0 1 1 1 0 1 1 0 0 10
I GESES ELF IC IR D) 5 0 1 1 2 0 1 0 0 0 10
B |[[Baii]lgzep(@esrad) 12 0 1 2 4 10 12 1 0 0 42
R [[Red+]13 (Fzen2d) 18 5 6 3 4 2 4 0 0 0 42
Bo |[[Rei+]R 18 1 0 2 0 6 7 6 2 0 42
Ro |[[Red+]i 12 4 3 4 7 6 4 2 0 0 42
B | [Basd A]) Fip (i 0 0 0 0 2 1 0 0 0 0 3
B |[[BodA] FER(EESsP) 2 0 1 0 0 0 0 0 0 0 3




FRBEBEFT AP RFTEREL BB L RS 5ppd

n) TLE BRI (FH 0-10 |11-20| 21-30 | 31-40 | 41-50 | 51-60 | 61-70 | 71-80 | 81-90 [91-100| & 3-( *)
Ao | [Bad A) mERGEES2P) 0 1 0 2 0 0 0 0 0 0 3
Ao [[fsdHr] FERGEES2R) 0 1 1 1 0 0 0 0 0 0 3
Ao |[[ReTi] B 6 0 0 1 1 0 1 0 0 0 9
Ao |[[Reati]d 6 0 0 1 2 0 0 0 0 0 9
Ao |[[Retid]d 6 0 1 2 0 0 0 0 0 0 9
ESICESS O REY 5 1 1 1 1 0 0 0 0 0 9
o |[[R=TH]3 28 8 4 9 9 10 7 0 0 0 75
o |[Aoiid]l aap(arad) 22 0 0 7 11 6 6 14 9 0 75
B | [Bsg®)laeg(@erad) 22 3 4 14 13 8 [ 2 1 0 75
B | [Bxep)laep(gesrsd) 22 0 6 9 9 12 10 6 1 0 75
o [[Fodti]ldmp(@aerad) 5 0 1 1 3 0 4 1 0 0 15
fo |[Radip)] @pg(Fesr2d) 6 0 1 1 1 3 1 1 1 0 15
B |[Ban@lspp(Fasrsd) 6 0 1 3 3 2 0 0 0 0 15
Ao |[Bai@lbppGasad) dadd 6 0 0 1 4 2 2 0 0 0 15
B | [Bail] 328@esrad) 2 63 10 | 13 26 | 36 27 22 5 0 0 202
B | [Bafsfl)] dzep(gaesrap) ¥ 58 0 4 19 | 30 50 | 29 12 0 0 202
HESICES IV EETICE VD) 4% 60 0 5 17 29 37 | 28 16 8 2 202
B | [Rafsfl)] dzem(gaesrap) TS 58 0 5 16 | 39 37 | 34 12 1 0 202
Ao | [Baisil)] Angins 29) () g 8 2 1 1 3 2 2 2 0 0 21
Bow | [Bafsfl) frg(hns 22) [#Hr) ¥ 5 0 1 3 3 7 2 0 0 0 21
Ao | [Bagsil)] Angins 29) [hr) L% 5 0 0 3 3 2 5 2 1 0 21
Ao | [Ratsil] AnBGAEA 27) [Hhir]) dRadd 5 0 0 4 2 8 1 1 0 0 21
Ao | [Ra&isi2] g2p (o) s 1 1 2 4 2 5 6 1 0 0 22
R | [Asit2] 3 ¥- 0 0 1 0 1 5 9 5 1 0 22
B | [Baxisi2) 3 s 0 0 0 0 1 2 7 11 1 0 22
B | [B =) 3 TR 0 0 1 0 0 8 10 3 0 0 22
B | [R=ite2] & ) £ 5 0 0 1 3 4 5 6 0 0 24
B | [Bafsi2) 3 X)) 4 0 0 0 5 5 2 5 3 0 24
ESICES S EES a2 f) 4 0 0 0 1 3 4 5 7 0 24
Ao | [BapRl depGasrad) 4 0 0 0 0 8 4 7 1 0 24




	113筆試級距

